A question was raised in class on Feb 29, regarding HW problem 3C.
Use (4.52) for the approximate solution.

To get the “exact” solution, we have to remove E0 and d0 from (4.51).  The following is largely text-based in case the final results in equation form don’t email well…
Just before (4.33), E0 is defined as the E-field received at a distance d0.  Using d = d0 in eq (4.15), we see that 
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So, for E = Etot from the 2-ray model, we can use (4.15)
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It is easy to find d given a required Pr in matlab: you’d use fminsearch to find the d such that | Pr(d)2-ray – Prrequired | is minimized (which occurs when the model predicts the required Pr).  However, this is not easy in Excel, so we’ll simplify the assignment to compute Pr, given d, rather than the reverse computation.
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